
UNIT 6 WORKSHEET 7 

USING THE UNIT CIRCLE 

 

 
 

Use the unit circle above to find the exact value of each of the following.  (Exact value means no decimal 

approximations.) 
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J)  
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M)  
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P)  
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S)  7
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 
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V)  Find all angles θ  in the interval [ )0,2π  that satisfy the expression:   

3
sin

2
θ = −  θ = _____________________ 

 

 

 

W)  Find all angles θ  in the interval [ )0,2π  that satisfy the expression:   

csc 2θ =  θ = _____________________ 

 

 

 

 

X)  Find all angles θ  in the interval [ )0,2π  that satisfy the expression:   

tan 3θ =  θ = _____________________ 

 

 

 

 

Y)  Find all angles θ  in the interval [ )0,2π  that satisfy the expression:   

sec undefinedθ =  θ = _____________________ 

 

 


